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LIMITES I
1) Completa a partir de los graficos:
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lirgl4 F(x)=...., lin_l3 F(x)=..., lin}F (X)=...... lir_l} G(x)=...., lir_r31+ G(x)=....., lirzll G(x)=.....
limF(x)=..., lim F(x)=..., hIP F(x)=... ling G(x) =, M G(x)=...., lim G(x) =.....
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lim H(x)=...., limH(x)=...., lim1 H(x)=...... lim J(x)=...., lim J(x)=...., liral J(x)=......
X -2 x-1 X—-— x -3 xo-1 X -
lirgl2 H(x)=...., limH(x)=...., lirP H(x)=..... lirgl2 J(x) =y lim J(x) =, lirp J(x)=.....
e) f) h(>4
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= h(0) =..... lir{l2 h(x)=...... A lim h(x)
limg(x)=—-oc0 Raices:........ limA(x)=-3 lirp h(x)=.....

2) Bosqueja el grdfico de una funcion que cumpla:
o) lim f(x) =+, lim f(x)=+o, Df =R-{l}, f(0)=3, lim f(x)=—oo

b) lim f(x) =2, lim f(x)=+eo, limf(x)=-c, f(0)=2
c) llrgo f(x)=3, lil’? f(x) = +oo, lirgl_ f(x)=-0, f(0)=-2, 11120 f(x)=1, raices:-1,3,5
d) lim /(x) =0, lim /() =+, lim () =2, fG)=1, lim f(x) =1, lim f(x) =+




